o
[N

< o cot(y) >

o
N

<o @> (rad)
o
=
a1

|
=
|||||I&)IIII

3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=#— DQM_CKF_TT_base
—— DQM_mKFit_TT_base
g 100E 5 : g 100E : :
> 8Ol 3 S S sof- Siittie
N F . : A F h :
7 60F-{f-f-i- 3 IR 5 60f- A
N : : o I
v 40:— """ N i - \% 40:— H M
20F-{1- T 20F 1 il
Of-{[4-+- : A of ISAREIE
----- 3 RIS ~20F-
..... g U1 ~40F i :
: ] E :
: - : : i -60F : 1t ]
----- -80f i
il :....I....!....I.... .gloq:__._.__.__._I__.__._.__.__Il_:_.__.__._@.__._.__.__I_....I....
s |
e 1 osp--m: ALRRE 1R 18
05;— [ i
O: . . L . : - oL . . . : H -
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA to beamline)

= 5pm . . . .
B F : : ! ! !
A AR ; i ; 11
o . ; : E : B
== SE ; q ; ]
o o s s s s :
o 2F-{IHH- ; g ]
v E 1 1 ! !
1= y ; i ; ;
OE— E <3 ;‘- .‘ E :, -+
-1 j 1 : :
2| e
_3;_ ' :
-4
P e o ' L L ' ........
3 b i i
o N b
(O] ol REEET EERS COERREREE ol op -
ok E ] i ] j |
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


